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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

Define surveying. State principles of surveying. Classify surveying.
10 km distance is drawn by 2 cm on map. Draw the scale for map and indicate
53 km on the map.

Define following terms:
() Meridian (i) Bench mark (i)  Elevation (iv) Orientation
(v) Transiting (vi) Axis of telescope (vii) Base line
State types of obstacles in chaining and explain any one method of overcoming
the obstacle.
OR
What is Ranging? Explain Indirect Ranging with sketch.

The following bearings were observed in closed traverse ABCD. Correct the
bearing for local attraction and find included angle of traverse. Apply the usual
checks.
Line FB BB
AB 73° 30’ 255° 00’
BC 108° 30° 287° 30’
CD 224° 30’ 44° 30’
DA 307° 30’ 127° 00’
(1) Distinguish between : True meridian and magnetic meridian
(i) Explain different types of Bench Mark used in leveling.
OR
A 20 m chain was found to be 10 cm too long after chaining a distance of 3500
m . It was tested again at the end of day’s work and found to be 13 cm long
after chaining a total distance of 7500 m . If the chain was correct before the
commencement of the work, find the true distance.
Attempt following:
(i) Compare Prismatic compass and Surveyor’s compass
(i) Differentiate Whole Circle Bearing and Quadrant Bearing system

(i) Differentiate between H.I. & Rise and Fall method of calculating R.L. of
points.
(i) Define contour line , contour interval , contour horizon
The following readings were taken with dumpy level. 1.035, 1.500, 1.675,
1.500, 1.800, 1.950, 2.050, 2.125, 0.175, 1.620, 1.820, 2.510. Level was
shifted after third and eighth reading. Calculate the RLs of all points by H.I.
method. Apply usual checks. RL of first point is 100 m.
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Define following terms:

() Line of collimation (i) Reduce level (iii) Back sight (iv) Change point
(v) Fly leveling (vi) Fore sight (vii) Interval of contour
Define contour and state characteristics of contours.

Explain the methods of orientation in plane table survey.
List the instruments used in plane table survey. Also state advantages and

disadvantages of plane table survey.

OR

Explain technical terms with reference to Theodolite.

(i) Centering (ii) Leveling
Swinging (vi) Face left (vii) Face right
State classification of Theodolite. Describe the procedure of “Temporary
Adjustment of Theodolite”.

(iii) Focusing  (iv) Transiting
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